EARAROBEEIERT — 2 N— IBISH —F

201459848 (K) 10EIFI5I6H

m 2AEEREFH YR 2% ‘ (X8l /™ ‘ [REmshE] - |4 (&) 12000 B2
[A&4£] 1 7% :300,000 ™ ~ 23#%&:60,000H”  33&:4500 M  437&:30,000H .~ 57&:15,000 H
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
. o KEFH) . - - REE (dtimE)
il xrvavaesn 2 X5 7 e S
LTUBARIL R BBy Th—5— HT B
s -3 — _ B o2 | BHES 1:15.7 6-6 39.5| — 4 390 | EBMF (dtimiE)
EE g|I=3=2% 54.0 (75%) (o) | TISFE
R:VZRE—-3IZ28— B:ALT—RKANIL “=r =
N N S EEA : = - AAZE (dbimE
3156 N FFoO o2 54.0 1(.11/%)8 &8 .3 2 (4_5;4) HHEE e
L:IMY>FE2T714 BT —XTLXb JIE 1%k
; o = s 2 | FEHX 1:15.9 1-1 40.4| — 5 450 | BIWFRI (LimiE)
41811 TIWN—V v X714 X 54.0 (1/2) 8 FFREE
LV RYJYRIR B:TIN—TLT A E5A
i . t 2 | BREBIEKSE 1:16.2 1-1 40.7| — 6 458 | EERIESL (dtiEE)
sk 3| I—7F (v b 54.0 (1 1/2) 42 | FBER
SR /RN DI 3 & Sl Ny ) [sg=tie]
S FETS 16. y o = BRE= (LBE)
N - BEZES D w2 ae Gagy | 0@ G Em
LA xNTT B bhIFTITT— P EL e
N THEE— : — — BfEAm (disE)
717l 9 a9/ )R> 2 = 1.(147).0 5-5 4.0 10 (z@_?f) gee Bl
LY LTAN=F B:A—TTOyHLA DEAHTT— L
Sa = = EBEZ : - - ZEHN (L)
8l8l12| N7V TATy T 2 Eh 1'(117)'2 ! e 1 ff) s
RR—NFIAYLF— B:TYL I TI I 435
2 | FLgE 1:17.6 10-10  |40.8| — 7 450 | Klfits (dti5E)
9 4| PL by I— e 54.0 ) e | . é‘}lli#j(t%L
L= B:Ig—FIKRU—L ke ]
N ) B 2 | EAAREER 1:17.6 8-8 Mna1l - 12 | 454 |ERABEHE (LiEE)
105/ 5| AV vRA 54.0 (7£) +10) | EOHERR =
A3k -—5— B:XT7E7 =R77—L
= S s 2 | B 1:19.3 12-12 422 — 9 476 | /NEFE (dtimiE)
EH 2| 7AMT TV 54.0 ®) (o) | B) HR=FTT -4
NS BiIL VI IR— b HR=FT7T7 — L
P8 3 B : - - HAHA (imE)
12l7l 10l 82525 2E 0% i 2 b 1.(250).4 10-11 | 43.6 1 ;1:122) ol wE
R:a=JF¥LLy b BAALTTEDY BEZ &Y K
® I —F—EBIERL
13—7—
23—7F—
G§a=7r= (3,11,12),1,9,8,7,(5,6), (4,10) ,2
43—+ — (3,11,12),1,9,(7,8),(5,6),4,10,2
[ RN
B OB 1 710H 714K 1-8 540M e & 1-6 1,660M &R 1-6-8 3,910
7 B 1 210M 1-6 340 | | B = 1-8 3,120/ | | 3:EE 1-8-6 31,820
8 230 6-8 730M B H 1-8 4,560
6 1509

ABICOVWTRDTEEERROODE. TR LIV,




